Status of the D*lv |g/p| Analysis

Martino, 4/6/2010

lg/p|-1 Likelihood scan on B° Signal MC

Scan g/p
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la/p|-1=(-3£5) 10

Likel. min

4.919e+07 = 4.48

Parabola min-0.0003345 + 0.0001029

error

0.0005334 =+ 6.91e-06

~20.015

Next Steps:
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*B° BKG scans are going on;
*Move to Run1-Run6 full statistics (Rel. 24, An. 51);
MC Full Fit in a few weeks, then move to Real Data;

Update the
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See last CM presentation:

*New Resolution Model;
New Dtag Treatment :

new PDFs(At, O(K-Lepton)),
Fractions fitted in PK bins.
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